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1) Find the roots of each equation

a) 2 = log(x + 25)

0 = x435
160 =~ x2S

=75

2) Solve

a)5 =log,(2x — 10)

;25 = dx-10
32z 2x-1lO
UL = &K

=

W5 - 7.4 — Solving Logarithmic Equations

b) 1 —log(w —7) = 0
1= loalw-7)
o = w-T
o= w-T

b)9 = logs(x + 100) + 6
3 - IO%(&(«*‘OO‘)

(25 = X +100

3) Solve. Make sure to reject any extraneous roots.

a)logx +log(x —4) =1

‘%[ac«‘u)] z1

(0 = %(x-Y) 2% =2t M)
lo = >~ YA 4
0= a*-Y2-10 |x-2%0y
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¢) 6 — 3log(2n) = 0
(. ‘3|o3(,&r\)
NE (03(.D~V\)
(0" = An
(00 = &N

¢)logs(n* —3n+5) =2
31= n-3nd 5
q = /\1-'/5/\"'5
0=n-3n-4
O =(n-4)(n+)

N
o] rT]

b) log x3 — log 2 = log(2x?)

(og"k”— l03(24£2) = (e,_al

K=Y

09 (32) =loga.
log(%) 2 (0&\)}1
%o



c)log(v—1) =2 +log(v — 16) d)log(k +2) +logk—1)=1

log(u-() - \Oodcu-lé) = losy( (kea)(k-n] =
' -
(o) (Y= 7 (0 -(f+1)(k-(}
PO (0= k>~ (k2K -k
v-1G 0= k*+k-1d
toe (y-16) = V-\ ((‘\W?{K g’)
(60y -\60e =\ - | v
9y = 1584 k L, m
4) Solve. Check for extraneous roots.
a) logVx? —3x=% b) logvx? + 48x =1
loa(+@ 39)" = 5 looy Cx‘«\%ﬂq"‘ 2d
%\03(11—’5’)0 : % Ll ‘03(¢1+Q34ﬂ -1
|03(/¥1—'3']() =1 (o&b(xa*(ﬂ/)a z -

o' = X -3x @ = 1P4Ygx
g=1"3xte 0= 4*+44x-100
O = (x-5)(%+3) 0= (aa-sok««sq
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5) Solve. Check for extraneous roots.

a)log,(x + 5) —log,(2x) = 8 b) log(2k +4) =1+ logk
')(45 3 9 (oa( 3K - \o%(\’\) =1
(aa(3Hly |
. s ALY <4
JOL ‘Ol - ;K*‘L’
196 = X+sS K
" ok = 2k
5% = 2+ 5 2 -
5(x=5 1
- 5) ko1
-~ su) =
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1)a) 75 b) 17 ¢)50 2)a) 21 b) 25 ¢) 4, -1 3)a) 2 + V14 b) 4 )§£ d) 3

4)a) 5, -2 b) -50, 2 5)a)m b)—





